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Q.No: 1  Ustad Alla Rakha Khan and Shafat Ahmed Khan were the leading exponent of which musical instrument?
2427048
IS S a1 @ SR G 3eHe W 5 a1 97 & yge vfies 92
Shehnai
A
T
Tabla
B
GES
Ankya
C
ELal
Kamaicha
D
BHRE
Correct Ans : B
Subject : General Knowledge
Q.No: 2 Choose the false statement about Subhas Chandra Bose.
2427998
HY % I F SR F TTd HYF A
Bose did not share Gandhiji’s ideal of ahimsa
A
o 3 iefteh & aifean & snexf B W T
In January 1941, he secretly left his Calcutta home, went to Singapore, via Germany, and raised the Azad Hind Fauj
B
T 1941 T, I TW T J (01 Howdl R Sig o, T F I R M, AR aieg e B @ R #
In 1938, he became the President of Indian National Congress
C
1938 ¥, 3 HRfg T S & srmy .
In 1942, the Azad Hind Fauz tried to enter India through Imphal and Kohima
D
1942 ¥, W1 T WIS 7 ST SR HIfGHT P T § HRA 3§ 039 A 1 v o
Correct Ans : D
Subject : General Knowledge
Q.No: 3 Taxation and Government spending are tools of which of the following policy mentioned below?
2428980
FRM R WP T Faferad § § fbw A & Sueww § e Swie A i g2
Contractionary Policy
A
T AR
Expansionary Policy
B
faRaRe =it
Monetary Policy
C
e
https://mppeb.cbexams.com/MPPEB_Cand_Objections/PCRT_obj_adminpanel/Final_Model_Answer.aspx 1/36

Page- 1


https://applink.adda247.com/d/XhqWf9lSap

ﬁ' est Prlme

ALL EXAMS,
ONE SUBSCRIPTION |

70,000+ Personalised Unlimited
Mock Tests Report Card Re-Attempt
600+ Previous Year 500%
Exam Covered Papers Refund

ATTEMPT FREE MOCK NOW


https://applink.adda247.com/d/5zsmwiLHz7

Addal247

Fiscal Policy

IS i

Correct Ans : D

Subject : General Knowledge

Q.No: 4  The Salt Satyagraha was started by Mahatma Gandhi from the-
2432436

Panwar

Kachh

£

Sevagram

Jaam

Sabarmati

et

Correct Ans : D

Subject : General Knowledge

Q.No: 5 Who does the work of controlling both the quantity of money supply and the quantity of credit?
2434068

51 3 gftf & aRarer SR TR 9 W A ) PR oA & e B Rar g ?

Finance Ministry

A

fom Haerm

Central bank
B

Fla S

Council of Ministers
C

i

Central government
D

FEWIR
Correct Ans : B

Subject : General Knowledge

Q.No: 6  Which of the following newspapers supported the Vernacular Press Act-1878?
2435717

FrofiEa & 3 59 TR 9 3 FiegeR U9 Tae-1878 &1 Iad fpan

The Times of India

A
< T 3ffp 3fosar
The Hindu
B
afeg
The Pioneer
o}
g TR
The Hindustan Times
D

g fRgwm agw
Correct Ans : C
Subject : General Knowledge
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Q.No: 7 Which of the following is not a part of Himalayan range?

2435812
T & 3 femmer aoft 1 fown Y 82
Pir Panjal mountain range
A
R v o Aoft
Dhauladhar mountain range
B
e udd doft
Zaskar mountain range
C
TR T Aot
Aravalli mountain range
D

SRTaeh T Aoft

Correct Ans : D

Subject : General Knowledge

Q.No: 8  Which Indian sports person has been most searched in the search engine Google in 2021?

2437104
T §oF T W 2021 F G0 URed f{ert o e aif¥e aR @ien T 32
Virat Kohli
A
forre BEeht
Mirabai Chanu
B
HiRra =
Neeraj Chopra
(o
e gt
Mahendra Singh Dhoni
D

a3 e ot
Correct Ans : C

Subject : General Knowledge

Q.No: 9  Baul folk song is related to which of the following Indian states?

2440750
i a Ha Fafifed ¥ 3 e wRdia T ¥ el 87
Uttar Pradesh
A
IR W
Madhya Pradesh
B
A W
Bihar
C
R
West Bengal
D
LECEYS]

Correct Ans : D

Subject : General Knowledge

Q.No: 10 IIHF World Championship is related to which of the following sports?
2440838

1THF fay AR Fofafea § 3 e 9 3 9ifia 32
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Swimming
A
fafr
Ice Hockey
B
1Y gt
Fencing
C
kgiiu
Rugby
D
R

Correct Ans : B

Subject : General Knowledge

Q.No: 11  Which proposed ring road around a Madhya Pradesh city will now be a part of the Bharatmala project?
2441022

T Y ¥ YR F IRI SR B A1 WRaiad {7 I 81 HRepwren uRdisr T e g

Sagar
A

R

Indore
B

w©@R

Jabalpur
[o}

SRR

Bhopal
D

T

Correct Ans : C

Subject : General Knowledge

Q.No: 12 Who built the Devgarh Fort of Chhindwara?
2441121

fqarer & Same & o1 fmfor e geamr e

Raghuji IT
A

Xgeft 11

King Jatav
B

RIEIRSICE)

Bhakth Buland Singh
C

e g Rig

Rajendra Pratap Singh
D

Ii% e Rig
Correct Ans : B

Subject : General Knowledge

Q.No: 13 In which Indian state the famous actor Arjun Rampal was born?
2441280

TR ST 3R IR BT o HRed Iea & ga ure

Jammu & Kashmir

A
S, 3R HHR
B Madhya Pradesh
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RN

Uttar Pradesh

C
TR W
Maharashtra
D
HRRTE

Correct Ans : B

Subject : General Knowledge

Q.No: 14 The famous Bollywood singer Palak Muchhal was born in which city of Madhya Pradesh?

2441304
TR dicids MRIPT Uad Jeod & 91 A Uex & fbg e H gof ur?
Bhopal
A
it
Indore
B
w©WR
Gwalior
C
IR
Khandwa
D
Hear

Correct Ans : B

Subject : General Knowledge

Q.No: 15  Which of the following towns have the tourist spot of the well-known Mango yard?
2441347

Frafafaa & & fra wer # ufie 371 918 &1 wed v 82

Alirajpur
A
SRARITRY
Vidisha
B
fafemm
Ujjain
C
IS
Betul
D
g

Correct Ans : A

Subject : General Knowledge

Q.No: 16 Which of the following districts borders Uttar Pradesh?
2441456

Frafafea # & frg R &1 @ IR 1w § @ 22

Bhind
A
fifs
Rajgarh
B
RG
C Jabalpur
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SEAgR
Dhar

YR
Correct Ans : A

Subject : General Knowledge

Q.No: 17 Madhya Pradesh State Biodiversity Board has been constituted by the State Government as per the provisions of Biological Diversity Act, notified by the Governme
2441510 j.4ia.

T YR T O fafaerd SiE 7 76 URd IRPR GRT SAgfd S fafqedr sfafam, F YUl F 3FER 5T WBR GRT a1 T/ B
1999

1999
2002

2002
2008

2008
2012

2012
Correct Ans : B

Subject : General Knowledge

Q.No: 18 Who among the following is the Minister of Scheduled Castes Welfare Department in Madhya Pradesh?

2441764
FrofRifed & 9 i 9w vew & Sy Wit e fur & W ¥
Smt. Meena Singh
A
et i Rig
Kamal Patel
B
T I
Govind Singh Rajput
c
Tifde g g
Gopal Bhargava
D

T Yt

Correct Ans : A

Subject : General Knowledge

Q.No: 19 is the main crop of Damoh.
2441798
T ! T B § -
Chick-pea
A
FIge! T 1
Lentil
B
R
Millet
c
FORT
Gram
D
= (9)
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Correct Ans : D

Subject : General Knowledge

Q.No: 20 Which district houses the fish seed production farm in Jevnara village?
2441816

JFRT T H AFeh die Sane wid 5 B & R 2

Sagar
A

R

Shahdol
B

TS

Seoni
Cc

Ryt

Sehore
D

R

Correct Ans : C

Subject : General Knowledge

Q.No: 21 Which of the following is used to measure the atmospheric pressure?

2425743
& ¥ frwet vam argrsdi g9 woR & e fs S 82
Anemometer
A
e
Barometer
B
Rfiex
Ammeter
C
R
Thermometer
D
YA

Correct Ans : B

Subject : General Science

Q.No: 22 What is the study of energy and matter transitions as they approach equilibrium?

2425900

Fut IR Ut & THHU BT ST T § O 3 Iger S P Ugad 82

Equilibrium thermodynamics
A

Tgar SRt

Classical Thermodynamics
B

TR ST

Chemical Thermodynamics
C

YRS SHHYAR@

Statistical Thermodynamics
D

vt Seyaft
Correct Ans : A

Subject : General Science

Q.No: 23 Our living organisms (mostly humans) place should be:
2428990
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THR SHfdd Sl (SUTGRR $9MI) BT RIF gl 91fey:

Open place
A

gl wE

Closed place
B

9 WE

Clean place
C

6 SR

Unclean place / Untidy
D

Y VM / D
Correct Ans : C

Subject : General Science

Q.No: 24 Which one of the following is the wrong purpose for National Parks in our country?

2429107
Frofafea % & $ W TR 3 & g Sari F R Tad gewa 22
National parks protect places of natural beauty.
A
P FAH WP Yaxal & R B 8 R4 g0l
National park is home to many endemic species.
B
I EAH 3 RIS Faidt BT W g
They also protect places important to aboriginal people, and places that show how people lived in the past.
C
g anfearfl @it & Ry weayyl Wt ok 37 R 8 +f 241 aRa € o R § 1 o ofia § B < A
National parks are not protected areas.
D

W e W & T |
Correct Ans : D

Subject : General Science

Q.No: 25 Herbivores eat only

2429231
RUCAEN 2 S | &
Producers
A
SAGH
Herbivores
B
pucali|
Both plants and meat.
C
Y IR A G
Omnivores
D
watert

Correct Ans : A
Subject : General Science

Q.No: 26 Directions: The following question consists of two statements one labeled as “Assertion” and the other as “Reason”. You have to examine these two statements carefully and s
2429934 the correct answer to the question from the given options.

Assertion: (A) Body thin, soft, leaf-like or ribbon-like.

Reason: (R) The organism belongs to phylum Platyhelminthes.

e Faffed vy 8 < 5[ § FE 3 0@ 31 sifidyan SR g 31 SR $ F9 H A9 {501 1§ 9B 37 I Bl B aUFIgEE §id B § iR Y T fawedt § § vy 31 98 W
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ff¥eH: (T) R ydan, Jaray, Ol o a1 Re sl
PR (R) Sia @R wead § g&fd g1

(A) is true but (R)is false.

A
(A) 9 & Al (R)Tad 71
(A) is false
B
(A) TR
(R) is false.
C
(R) T 31
(R) is the correct explanation for (A).
D

(R) (A) ¥ frw o8t wfiasor g1
Correct Ans : D

Subject : General Science

Q.No: 27 Sponges belongs to

2429966
T P HE T
chordate
A
Fise
non-chordate
B
R-Prc
hemi chordate
C
T Fee
balanoglossus
D

EGE |

Correct Ans : B

Subject : General Science

Q.No: 28 Complete combustion takes place in which zone of candle flame?

2430160

e 3 A ¥ fow e X ol g A 87

Inner zone
A

SR &

Outer zone
B

el &

Middle zone
C

7w &

Dark zone
D

S S

Correct Ans : B

Subject : General Science

Q.No: 29 Directions: The following question consists of two statements one labeled as “Assertion” and the other as “Reason”. You have to examine these two statements carefully and s
2430361 the correct answer to the question from the given options.

Assertion(A): When a comb is rubbed with dry hair it attracts small bits of paper.

Reason(R): When the comb is rubbed with dry hair, it gains electrons from the hair and acquires a negative charge.

= fmfrad oy # < wu € e S w3 ity SR gW B "SR & 9 F A9 a7 T 21 9S54 Sl Bl Bt GayHigde S St § 3R 3T T fawedt 7§ & vy 31 9l S
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@Y (A) @ T HE BT W Tl § TIST S § AN I8 PR & BIe-BIe ghg! Bl BT Bl 5l
PR (R) : 9G HHl B GW 101 & ITST 11 ¢, o 8 Tl I AT Te0 A ¢ MR FHUMETH A U IR el gl

Both A and R are true

A

A IR R N v &

Both A and R are false
B

A 3R R 3 39 §

A is true but R is false.
C

A T ¢ A R A B

A is false but R is true.
D

A 3 § P R T B
Correct Ans : A

Subject : General Science

Q.No: 30 Which of the following vitamins is also known as ascorbic acid?
2430965

Frafiied & @ B a1 Refin weids tis & wu § ot S o 82

Vitamin D
A

e St

Vitamin A
B

[EEERY

Vitamin C
[

e &

Vitamin B
D

faerfem &t

Correct Ans : C

Subject : General Science

Q.No: 31 What is the name of the method of converting a solid to a gaseous state without going through the liquid state?
2431608

%a oy ¥ ToR 3 et 31 &) IRt sraw & waem 351 Y o1 @ AW 32

Melting
A

T

Sublimation
B

Sedura

Evaporation
C

qrefieRor

Condensation
D

Rsiec
Correct Ans : B

Subject : General Science

Q.No: 32 For frogs, thyroxine production requires the presence of in water.
2432485

Aew! ¥ YERIRA Iare F forg orht & # JURURY Y Sraxgerar Eidt B
A Iodine
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Eioicict

Magnesium

FRAA

Potassium

qrefRr

Calcium

Earue|

Correct Ans : A

Subject : General Science

Q.No: 33 Asbestosis is actually a/an disease.
2434308
WEREaRE @ __ ®wmel
Lung
A
FHg
Dental
B
e
Eye
C
=
Kidney
D
st

Correct Ans : A

Subject : General Science

Q.No: 34 Which of the following is NOT an inflammable substance?
2437186

frofafd & 4 B T saemia (Sried) Terd Te 82

Petrol
A

U

Alcohol
B

TRE

LPG
Cc

oSt

Oxygen
D

SRt

Correct Ans : D

Subject : General Science

Q.No: 35 Who propounded the theory of evolution?
2439920

faera 1 Rigid frad gRT fawfed famar m ar?

Charles Darwin

A
el st
Charles babbage
B
I 9
¢
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Charles Metcoff

ESikiceaey

Johnson Charles

St T
Correct Ans : A

Subject : General Science

Q.No: 36 Choose the correct mirror image/jpg of this combination- CXGDYT642]1
2425697

39 WIoF @1 TE U0 B gH- CXGDYT64231
[CLTYAZ oD

MSLITYAZ DD
MELTYOdXD

MERTYOAXD
MELTYZOAD

ICRTYZOAD
ICRTYADXD

IELITYADXD
Correct Ans : D

Subject : General Reasoning

Q.No: 37 Select the letter-cluster that is related to the third letter-cluster in the same way as the second letter-cluster is related to the first letter-cluster.
2426307

REASON : EIDRVN :: BEGUM : ?

I 3HR-TIE BT TG Y Sl TR ER-THE T I TPR Gl 7 SN GO AER-Tg, Ued SHER-g § Ffdd g

REASON : EIDRVN :: BEGUM : ?

SGHMJ
A

SGHM)

uljoL
B

uioL

unoL
C

UHNKI

UHNKI
D

UJKPM

Correct Ans : B

Subject : General Reasoning

Q.No: 38  Select the option /number which is related to 31 number in the same way as 224 pumber is related to a
2426435 |« number?
8§:26::28:?

3H TEAT /[AeeT & 999 HY AT S TS ¥ 38 YHR FEOd § S gAY TEAT qger
e @ wela

8:26:1:28:7

81

81
|aq
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89

84
C

84

86
D

86

Correct Ans : D

Subject : General Reasoning

Q.No: 39  Which of the following diagram indicates best relation between Fuel, Coal and Petroleum?

2426750
Fraffed # A S A1 R 2, e 3R WA & i Tokl o elel &) gwian 82
A
B
c
D

Correct Ans : C

Subject : General Reasoning

Q-No: 40 Which of the following diagram indicates best relation between Air, Water and Soil?
2426800

Frafefad & 4 S W 2T a1, S 3R it & ofg 9 ory Ty Y gufar 82

A
B
c
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© ©of

Correct Ans : B

Subject : General Reasoning

Q.No: 41 Pointing to a woman in the photograph, Raveena said, “Her son’s father is the son-in-law of my father.” How is Raveena related to the woman?
2429569

TR & U Az BT SiR IURT FRA Y, &A1 3 Fel, "I9F G F e IR Rar F goarg 81 W 9 Ak A 5 yeR wefia €2

Mother
A
AT
Sister
B
Ergl
Grandmother
C
T/
Aunt
D
3T

Correct Ans : B

Subject : General Reasoning

Q.No: 42 Neeraj walked 20 m towards east, took a right turn and walked 10 m. Then he took a left turn and walked 20 m. in which direction is he now from the starting point?

2429676
iveT gd it 3R 20 Hiex T §, & ged @ ik 10 Hex gadr 81 fR 98 §1¢ gedr § iR 20 Hex Tod 81 98 o uRihe fig & v R 4 @2
NORTH-EAST

A
S
WEST -SOUTH

B
ufym-afim
SOUTH -EAST

c
afeor-gd
SOUTH -WEST

D

afgror-ufm
Correct Ans : C

Subject : General Reasoning

Q.No: 43 In the following question, a certain series of numbers or letters is given of which one series is empty. You have to decide which of the alternative series of the answer will be us
2433139 the blank space that is originally related to the sequence of that series.

Al, 726, B2, Y25, C3, X24, D4, W23, E5, V22, ?,?

Frafafea gy &, Temsh ar siert @t ve T gE & 7 2, s 3 U e Tl 31 iU 97 99 BRI § P e wU d 39 Jue F oeu I WEid e = # 9w o 3 W Iefae e
JURT feman S

Al, 726, B2, Y25, C3, X24, D4, W23, E5, V22, 2, ?
A F6, S19
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F6, S19

F6, V22

F6, V22
F6, T20

F6, T20
F6, U21

F6, U21
Correct Ans : D

Subject : General Reasoning

Q.No: 44 Select the figure that will come next in the following figure series.

A o/INoll
<>||O .

Alfl© O

I NP &1 T9T B S Fmfafda srepf e # ot st

A NI/l
All[O oo
]
[l
A
[l
[l
B
W
LS
C
W
LS
D
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O
O

Correct Ans : B

Subject : General Reasoning

Q.No: 45 Select the option that will come next in the given series.

2434164
X X
=]
- ?
x X
a a
I ey &1 797 B o & T e § o smgm)
X X
=]
- ?
x X
o a
m]
X
A
[m]
X
a
X
B
o
X
c
] X
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[m] X
(m]
[m]

Correct Ans : B

Subject : General Reasoning

Q.No: 46  Select the letter-cluster that can replace the question mark (?) in the following series.

2434362
DPI, BME, ZJA, XGW, ?
Frfifaa e § IU J1eR-TE $1 709 B o Uy g (2) B vfoeafd FR gl 31
DPI, BME, ZJA, XGW, ?
uct
A
uct
vDT
B
vDT
vcs
o
vcs
VDS
D
VDS

Correct Ans : D
Subject : General Reasoning

Q.No: 47 Three of the following four letter clusters are alike in a certain way and one is different. Find the odd one out.

2435022
Frfaféa TR R Tl § 3 7 1@ A o I Im § ok T o ¥ fawm g
INSY
A
INSY
GIMP
B
GIMP
CGLR
c
CGLR
EINT
D
EINT

Correct Ans : B

Subject : General Reasoning
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Q.No: 48 In the following question, select the odd number pair from the given alternatives.

2435064

P & g g Riavedt 2§ Rvm S g @1 R

79 - 16
A

79 - 16

62-7
B

62-7

92 -11
C

92 -11

85 -13
D

85-13

Correct Ans : B

Subject : General Reasoning

Q.No: 49 Find the odd word/letters/ number from the given alternatives.

2438933

fow e faepedt # & faww wea/steR/AET B gHul

13
A

13

17
B

17

29
C

29

87
D

87

Correct Ans : D

Subject : General Reasoning

Q.No: 50 Mayank said, "My mother is the sister of Rajat’s brother.” What is Rajat’s relation with Mayank?

2439296
T A BT, A T o P UTS B 99 §1" Ioid Bl AGD F 91 T g2
Cousin
A
EERE
Maternal uncle
B
AT
Uncle
C
3fed
Brother-in-law
D

Sftrsft

Correct Ans : B

Subject : General Reasoning

Q.No: 51 Given question has main statement followed by four statements. Choose the ordered pair of statements, where the first statement implies the second, and the two statements
2440238 |ggically consistent with the main statement.

if my mother cooks dinner, she garnishes extra cheese for me.
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A. my mother cooked the dinner

B. my mother did not cook dinner
C. My food is garnished with extra cheese.

D. My food is not garnished with extra cheese.

fou 1T uy F g1 T SR ITS G IR DU §1 HU BT B G G, I U B T IR GEX HUA W 8, 3R < FUA 1D ©U T GBI FUA I W B
SR B T I BT G S ], @ 98 R o 3ifaRed ok T 81

A, T A A 0 BT @ S

B. B i 3 T 1 WA T

C. R o sifafad ok & o )

D. TR7 ¥iier ifafed TR & Te womn B

BD
A

BD

BC
B

BC

DA
C

DA

DB
D

DB

Correct Ans : D

Subject : General Reasoning

Q.No: 52 Given question has main statement followed by four statements. Choose the ordered pair of statements, where the first statement implies the second, and the two statements
2440324 logically consistent with the main statement.

You are either responsible or callous.
A. You are responsible

B. You are not responsible

C. You are callous

D. You are not callous

fow 7T vy # 787 B SR IS 916 IR TUT §1 B BT Hiad IH G, ST T DY BT aRTd GEX P 9 g, 3R QA FU Afh® w0 F T $UT 8 I 3
g 71t RFeR § a1 H3R|

A. g R 8

B. MM fieR et §

C. 37 TR §

D. 3 TR g &

AC

AC
DA

DA
cD

cb
AB

AB
Correct Ans : B

Subject : General Reasoning

Q.No: 53 Given question has main statement followed by four statements. Choose the ordered pair of statements, where the first statement implies the second, and the two statements
2440395 |ggically consistent with the main statement.

The cards will be distributed by either the HR or the manager

https://mppeb.cbexams.com/MPPEB_Cand_Objections/PCRT_obj_adminpanel/Final_Model_Answer.aspx 19/36

Page- 19


https://applink.adda247.com/d/XhqWf9lSap

Addai2y7 Eoogle Play

A. The cards were distributed by the HR

B. The cards were not distributed by the HR
C. The cards were distributed by the manager

D. The cards were not distributed by the manager

fow Tu vy F g1 T SR TS 1% IR BUA §1 HU BT B G gH, STET Ugd U BT dedd gEk HF 9 B, 3R < FUF Afde w0 § 4w $UE § I
PIS 1l G YIS (HR) 1 Teiyd gRT fAaRka e sm

A. BTS HR R faaRa fve e &

B. PIS HR &I faafd el fbu e &

C. B1$ Tey g1 faRa few T 4

D. FIE Uavs GRI faafd 61 frg e &

AB
A

AB

DA
B

DA

CA
C

CA

BD
D

BD

Correct Ans : B

Subject : General Reasoning

Q.No: 54 Select the option that is related to the third term in the same way as the second term is related to the first term.

2441946
GPLC : INNA :: WIDZ : ?
I Ied &1 771 B S A U8 9 I R Hafd § o TeR g1 U< Ued U § Wela © |
GPLC : INNA :: WIDZ : ?
YGGX
A
YGGX
YHFX
B
YHFX
YGFX
C
YGFX
YHGX
D
YHGX

Correct Ans : C

Subject : General Reasoning

Q.No: 55 Find the related word from the given alternatives.

2442028
Plant : Grow
fau e e # & wafid T 3 BRI
QYT I
A Pint: Liquid
fife: wRa
B Fire : Burn
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EIUEREGE

c §truggle : Victory
o : faom

D Wood: Steel
bl : T

Correct Ans : B

Subject : General Reasoning

Q-No: 56  gimplify: 424-[64 +{21-3(44-42
Sazosng Smplify [64+{21-3( 3|

WA DI 424 - [64 + {21 - 3(44 - 42)}]

375
A

375

490
B

490

345
C

345

576
D

576

Correct Ans : C

Subject : General Maths

Q.No: 57 What number must be added to each term to the ratio 64 : 81 to make the ratio 8 : 9 ?
2429443

TS UG H 64 : 81 F U & A T JBI SIS S e anfds SruTa 8 ¢ 9 §Y Se?

21
A

21

22
B

22

15
Cc

15

72
D

72

Correct Ans : D

Subject : General Maths

Q.No: 58 A grocer wishes to sell a mixture of two variety of tea worth Rs.26 per Kg. In what ratio must he mixed the tea to reach the selling price.
2432729

T BT fagee <) YR F 9 & fiyor B Sd 26 . vl 6w 9 aear 31 St g 96 ugan $ R 39 9 @ e s # e ety 2

5:1
A

5:1

5:6
B

5:6

5:3
¢

5:3

5:4
D

5:4
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Correct Ans : B

Subject : General Maths

Q.No: 59 A 50 liter mixture of containing 10% honey, how much honey should be added to it so that the new mixture contains 25% ?

2432733

10% g aret 50 Tiiex fsior & fisen <rge e ST =1fe arics 7a fisior § 25% &2

13L
A

13L

i0L
B

10L

5L
C

5L

7L
D

7L

Correct Ans : B

Subject : General Maths

Q.No: 60 The ratio of milk and sugar in the container is 2:3 when 20L of the mixture is taken out & is replaced by the sugar the ratio becomes 3:4. Then total quantity of the mixture in
2432760 container is

G B g SR TIF BT SFuTd 2:3 & S Ao &1 20 fex Frwren s § SR I gRT viarnfa o S @ 6 S 3: 4 §) S 81 O deeR § o Y o Ann @

20
A

90

80
B

80

60
C

60

70
D

70

Correct Ans : B

Subject : General Maths

Q.No: 61  What should comein place of question mark in the following number series?
2433077
38 X624

303 0f160

Frafa i sear-sEe § wateg (2) % ST 9% T ST Arige?
/x624
303 0f160

491

491
490

490
494

494
496

496
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Correct Ans : C

Subject : General Maths

Q.No: 62 \What should comein place of question mark in the following number series?
2433096

2 X324 X7=9% x22? X6

ot dear-gaar § wateg (2) % w1 =T amr Ange?

2 X324 x?=9% x222 x6

366
A

366

364
B

364

359
Cc

359

363
D

363

Correct Ans : D

Subject : General Maths

Q.No: 63 Find the average of the six numbers 22, 24, 32, 40, 36, and 38.

2433837
B: GBS 22, 24, 32, 40, 36 3R 38 F 3i4d Fd BT
30
A
30
32
B
32
34
c
34
24
D
24

Correct Ans : B

Subject : General Maths

Q.No: 64 The average score of 10 students on an examination is 60. By including one student, the average score becomes 62. Find the marks of that student.

2433878
TF Wl § 10 BT 1 ST 3T 60 1 TP BT $ A FA U AT 9/ 62 T 11 31 39 BH F 3 I BIforw
60
A
60
82
B
82
84
C
84
85
D
85

Correct Ans : B
Subject : General Maths
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Q.No: 65
2433903

In a class, there are 54 smdents. 33 2 o4 of the number of students are boys and rest girls.

The average score in mathematics of boys is 50% more than that of the girls. If the average
score of all the students is 70, then what is the average score of the boys?

T P11 54 Femfl €1 S & Se 1 33 o w9 AR Sl aginat g
ASHI & A T 3 asfedl B ga § 50% e 31 A @ o
a2 70 B, A Ao H| 1 A1 2% R ]2

87

87
90

20
81

81
84

84
Correct Ans : B

Subject : General Maths

Q.No: 66 The average mark obtained by 3 departments is 848. If the average marks obtained by the students of physics department of 15 students is 64 and the average marks of the
2433917 stydents of chemistry department of 12 students is 72. Find the average marks of the students of Maths department having 9 students.

9 fumlt grr v fohu T o afw 848 1 afy e faum & 15 BT gRI U U Y ST i 64 § SR T fa v & 12 BET F ofda o 72 €1 T fqum & 9 B & aid o
Pl

80

80
78

78
81

81
74

74
Correct Ans : A

Subject : General Maths

Q.No: 67  Simplify: (14— +7
2155096 Simplify: (14-8)x(3+7)

WA BIE (14-8)x 3 +7)

60
A
60
67
B
67
88
C
88
89
D
89
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Correct Ans : A

Subject : General Maths

Q.No: 68 Evaluate: 37.188+3.6.

2433984
OF A BINIT: 37.188 + 3.6.
9.8
A
9.8
9.66
B
9.66
10.33
C
10.33
11.6
D
11.6

Correct Ans : C

Subject : General Maths

Q.No: 69 Alloy A contain 40% copper and rest is tin. Alloy B contain 74% copper; 10% tin & rest are impurities. In which ratio both alloys are mixed so that in new mixture % of tin will
2434844 50,7

fhrsreng A 1 40% T SR Tt o1 1 frieng B 7 74% TiaT 10% fo1 3R a1 eryfea €1 oo srgumr 3 ST ey urg ) fiveman S arfes =1 fiysron & fo7 o1 uformia, 25% & se?

3:7
A

3:7

3:5
B

3:5

2:3
C

: 3

4:3
D

4:3

Correct Ans : A

Subject : General Maths

Q.No: 70  Distribute Rs 1710 in the ratio 7 : 13 : 37

2435363
1710 FWA I 7 : 13 : 37 & g | faia 1
210, 390, 1110
A
210, 390, 1110
110, 350, 1000
B
110, 350, 1000
100, 300, 980
C
100, 300, 980
150, 390, 1110
D

150, 390, 1110
Correct Ans : A

Subject : General Maths
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Q.No: 71 Ifin a symbolic language *TEACHING" is written ‘CHEATING’ then ‘GRADIENT” will be written in the same language as?
2422560

TS feft Tithfaes 1o & 'TEACHER' &) 'CHEATING' féraT STC df 'GRADIENT' & SRt Hiwr & ferar simeam Rrrd?

DIRAGENT
A

DIRAGENT

DIAGRENT
B

DIAGRENT

DIERATING
C

DIERATING

RATIGEND
D

RATIGEND

Correct Ans : A
Subject : Mental Ability

Q.No: 72 In a row of 40 patients, Nia is 26% in row from right end & Sonia is 12% from left end. How many
2425566 .. )
patients are between them.

40 Al & T AR # e < BR 9§ 263 SR A a1 OR 9 31 ST fea we 8

3
A

3

1
B

1

7
C

7

2
D

2

Correct Ans : D
Subject : Mental Ability

Q.No: 73 In arow of 35 students, A is 10% from right end. Then find the rank of A from left end.
2425602

35 BT @) UE Ufdd H A TR BR ¥ 109 /FE W B @ 9 BRI A 31 3F 710 BIRIC?

26
A

26

27
B

27

29
C

29

25
D

25

Correct Ans : A

Subject : Mental Ability

Q.No: 74
2429616

https://mppeb.cbexams.com/MPPEB_Cand_Objections/PCRT_obj_adminpanel/Final_Model_Answer.aspx 26/36

Page- 26


https://applink.adda247.com/d/XhqWf9lSap

Addai2y7 Eoogle Play

Two positions of the same dice are shown. There are six symbols on the cube thatis ¥, =, y, p, B,
%, what will be in front of symbol B?

z B

e 9 Y & JrererareT Rufa Ers S §1 I | o REay, o, 0,6,5 81
e p& q@AT Fa1 3|

b B

x
A

kS
B

pX
C

¥

p
D

p

Correct Ans : A
Subject : Mental Ability

Q.No: 75 From the given option, which answer figure can be made based on the unfolded cube in the question figure?

2433359
«
5
8
v 10 15
o MU fowen § | Uy ongfa H A T F YR WR HH-U IR G S5 o Fabelt 32
5
8
14 10 15
10
1% 5
A
10
y S
B
B
a Y
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B
a Y
15
y B
C
15
y B
10
Y a
D
10
Y a

Correct Ans : D
Subject : Mental Ability

Q.No: 76 In a certain code language, TEST is written as SUDFRTSU. How will STAFF be written as in that language?

2434428
T fAfyd G W §, TEST S SUDFRTSU & &0 H ferar 5w 31 o I Foe o1 & STAFF &1 & forar smemme
RTSUZBEGGE

A
RTSUZBEGGE
RTSUZBEGEG

B
RTSUZBEGEG
TRUSBZEGEG

c
TRUSBZEGEG
RTSUZBGEGE

D
RTSUZBGEGE

Correct Ans : B
Subject : Mental Ability

Q.No: 77 Read the given statements and conclusions carefully. Assuming that the information given in the statements is true, even if it appears to be at variance with commonly known
2435514 gecide which of the given conclusions logically follow(S) from the statements.

Statements:All red are yellow.

All yellow are brown.

Conclusions:I. Some yellow are red.
II. Some brown are red.

III. Some red are not brown.

IV. All brown are yellow.

o e ot ok el B AHYEE UG | I8 I gU I Sl B € E SMaR) et §, 4 € ag aRid: 3 aet & e faerr avdt |1, ag fvfa $¥ 7 iy o frwst 7 § o w1/ e aifd
3T T T BT IR0 el 8781

F:
o, i B
i did, 1R 7
e

1. 3% U, A |
IL. TS ¥R, a9 B
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I11. 3% I, * T )
v. T o, Fd &)

Only conclusion I and II.

Faa e 1 SR 11

Conclusion I, IT and III.

e 1, 11 ok 111

Either conclusion I or conclusion II.

a1t ey 1 ar s 11

Either conclusion II or conclusion III.

a7 o Fremy 1 an e xrx
Correct Ans : A
Subject : Mental Ability

Q.No: 78 Which of the following will come in the place of question mark?

2438631
c - bba-cab-ac-ab-ac
FrofifEa & 3 T wyars g & RIF W M ?
c-bba-cab-ac-ab-ac
bcacb
A
bcacbh
babcc
B
babcc
abcbc
C
abcbc
acbcb
D
achcb

Correct Ans : D
Subject : Mental Ability

Q.No: 79 Which of the following will come in the place of question mark?

2438642
a_cb_dcd_de_
Fufafaa & & T wyaes 5 & =AW s ?
a_cb_dcd_de_
bcef
A
bcef
befc
B
befc
bacd
C
bacd
bcfe
D
bcfe

Correct Ans : A
Subject : Mental Ability

Q.No: 80 Complete the following series
2438765
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97, 83, 73, 67, 59,

Frafifea gaar #1 @ B
97, 83, 73, 67, 59,
53

53
49

49
47

47
51

51
Correct Ans : C
Subject : Mental Ability

Q.No: 81 If book is called newspaper, newspaper is called dictionary, dictionary is called television, television is called magazine and magazine is called computer. Which of the following
2439228 (se find the meaning of a word?

R e 3 SREeR, RIaR B R, RRmd o1 efifem, dlifas ot friia oiR Avis 9 $uger w1 oe | Fufifed § A Rraer Iudi g0 e ws o1 of §e & R ax wwa 82

Computer
A

HIR

Dictionary
B

EHI

Book
C

o

Television
D

Seftfer

Correct Ans : D
Subject : Mental Ability

Q.No: 82 If 'room' is called 'bed' 'bed' is called 'window!', 'window' is called 'flower' and 'flower' is called 'cooler' on what would a man sleep?

2439266
IR P B AR T A, "RER 3 S F1 91, WSH B "G Tl A SR "G B G Fe1 N o) T 5y W dem?
Window
A
fasat
Bed
B
R
Flower
C
k3l
Cooler
D
TR

Correct Ans : A
Subject : Mental Ability

Q.No: 83 I am seventh in the queue from either end. How many people are there in the queue?
2439535

7 felt oft ©R ¥ Far # Oiad ®H W §1 $aR § g fGar afw g2
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A 10
10
11
B
11
13
C
13
14
D
14

Correct Ans : C
Subject : Mental Ability

Q.No: 84  Which one word can be formed from the following letters ?

2442878
bck atropd
Frofifea Rl @ S 1 T e ST o 99l 82
bck atr op d
banknote
A
banknote
backdropt
B
backdropt
bankrupt
C
bankrupt
blinders
D
blinders

Correct Ans : B
Subject : Mental Ability

Q.No: 85 Arrange the following words according to dictionary arrangement:

2443044
a. Epitaxy b. Episode c.Epigene d. Epitome e.Epilogue
Frofafea edl 3 UsaeT o & STER SFafyd Sifvi:
a. Epitaxy b. Episode c.Epigene d. Epitome e.Epilogue
A a,b,cd e
ab,cd, e
B c, e b,ad
c,eb,a d
c e d b,a c
e d, b, a c
D ¢, b,ed a

¢, b,ed a
Correct Ans : B
Subject : Mental Ability

Q.No: 86 167 men can complete the electric fitting in a building in 57 days. How many days will it take if 90 men do the job?

2423705
167 3ieH! To suRa # faorweht @) fsfen &t 57 4 & g1 ox 9@d §1 90 SieH 39 o @ fvaw e § weae
9519/90 days
A
9519/90 f&A
1882/5 days
B

1882/5 fa
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543/23 days

543723 fa
3245/18 days

3245/18 f&A
Correct Ans : A

Subject : General Aptitude

Q.No: 87 A cistern can be filled by one tap in 15 hours, and by another in 17 hours How long will it take to fill the cistern if both taps are opened together?
2423727

TH S B TP 70 15 H¢ F SR g1 49 17 9 H R o1 31 e SR a0 31 U I Wit fn S o <t 1 kA H faer wm @i
431/12 hours

A
431/12%
255/32 hours
B
255/32 ¢
242/27 hours
C
242/27 4
349/21 hours
D

349/21 %
Correct Ans : B

Subject : General Aptitude

Q.No: 88 Find the parallelogram’s area if its base is 19.8 cm and height is 5.4 cm.
2426248

e ZHT IMYR 19.8 I § SR 1§ 5.4 it § O TAMIR & & 1 yar |

60.6 cm?
A

60.6 &F:

51.55 ecm?
B

51.55 F#R

106.92 cm?
[o}

106.92 J#HR

45.77 cm?
D

45.77 &

Correct Ans : C

Subject : General Aptitude

Q.No: 89  Calculate the trapezium’s height if length of'its two parallel sides are a=12.4 cm and b =15.6 cm and

2426263 1.1 ic 185 cm?.
e, 5aE & TATAIR Tail Y ars a = 12.4 J#AT 3R b = 15.6 Ja § 3R a¥7 185 I ar Soforow
&Y Fa1S T AT |
23.44 cm
A
23.44 ¥ddiex
13.21 cm
B
13.21 ¥R
C 9.77 cm
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9.77 ¥R

12.47 cm

12.47 ¥R

Correct Ans : B

Subject : General Aptitude

Q.No: 90 If the hemisphere’s radius is 10.5 cm then, calculate the hemisphere’s surface area.

2426269

Ifg Tirers @1 B 10.5 A §, < M & T & B0 $R0

12182 em?
A

12182 d#R

1562.4 em?
B

1562.4 J#:

2158.9 em?
C

2158.9 d#R

1039.5 cm?
D

1039.5 J#r

Correct Ans : D

Subject : General Aptitude

Q.No: 91  A26845237977B is divisible by 12 find the value of A and B?

2427675
A268452379778, 12 A AT € A 3R B &7 9 F1a B
2,2
A
2,2
8,4
B
8,4
9,3
C
9,3
4,2
D
4,2

Correct Ans : A

Subject : General Aptitude

Q.No: 92 A certain number of books were purchased for Rs.300. Five more books could have been purchased in the same amount if each book was cheaper by Rs.10. The number of bo
2431243 purchased was:

300 %. ¥ 3o frae @dd 71 S uRif & vim IR frard wdiet o gt of, afe vde R o1 4w 3,10 $1 gl @ 1 st ot e o

oo
.
.
o1

Correct Ans : C
Subject : General Aptitude

Q.No: 93
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2434582 The numbers of visitors every hour in a shop from 1 p.m. to 8 p.m. on Monday were recorded as 7, 10, 15, 22, 6, 4 and 13. Find the arithmetic mean of visitors.

THAR &1 UER 1§ F I 8 T G% TP g & X U SARTGDH! B IS B 7, 10, 15, 22, 6, 4 3R 13, & T F gof a1 a1 o1 | Swige! 5t WS &1 FHAIR T J1d SR |

9
A

9

11
B

11

10
C

10

13
D

13

Correct Ans : B

Subject : General Aptitude

Q.No: 94  Find the perimeter of a rhombus whose diagonals are 6 cm and 8 cm long.

2434660

TF THAgES B uReT 3 $ e el 6 I iR 8 I TR B 1

20 cm
A

20 I

40 cm
B

40 &t

30 cm
C

30

28 cm
D

28 &t

Correct Ans : A
Subject : General Aptitude

Q.No: 95 If A, B and C can do a job working alone in 12, 18 and 36 days respectively. They all work together for 3 day, then B quits. How many days will A and C take to finish rest of th

2436060

A, B @1 C el & 1 = 12, 18 #R 36 37 H v dd €1 3 Wit 3 37 9% U WY W 3R € SR R B W TS 301 ¢ 39 B Bl R R B AT A qUT C P a1 w0 @pm?

9 days
A

o faT

4.5 days
B

4.5 fem

3.5 days
C

3.5 f&F

5 days
D

sf

Correct Ans : B

Subject : General Aptitude

Q.No: 96  If the sum of a number and its reciprocal be 2, then the number is—
2436168

Tl U GBI 3R IS HehH & A 2 F, o 98 TS 8-
A 0
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0o

1
B

1

-1
C

-1

2
D

2

Correct Ans : B

Subject : General Aptitude

Q.No: 97 The sum of ages of father and son is 62 years. If 7 years ago father’s age was 5 times of his son’s age. The age of son after 6 years will be?

2436906

T e 3R O Y og &1 I 62 ¥ § Al 7 9 gl e 31 oy I9F A B omg 1 5 A 2R < 6 T 1G9 P g @ gRile

20 years
A

20 7

21 years
B

21

8 years
C

8qy

15 years
D

15 3¢

Correct Ans : B

Subject : General Aptitude

Q.No: 98 The ratio of Asha’s age 4 years ago and Aisha’s age after 4 years is 1: 1. Presently, the ratio of their ages is 5: 3. Find the ratio between Asha’s age 4 years hence and Aisha’s
2436920 years ago.
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1:3
A

1:3

3:1
B

3:1

4:3
C

4:3

3:4
D

3:4

Correct Ans : B

Subject : General Aptitude

Q.No: 99 What is the greatest number that will exactly divide 96,528 and 792.
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48
C

48

96
D

96

Correct Ans : A

Subject : General Aptitude

Q.No: 100 What will come in place of Question mark (?) in the following number series?

2444635
4,8, 11,22, 18, (?), 25, 50
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4,8, 11, 22, 18, (?), 25, 50
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A 36
35

B 35
a6

& 46
56

P 56

Correct Ans : A

Subject : General Aptitude
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